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a) During July, at the airport was recorded an increase in the 

number of passengers. Namely, as many as 2 342 153 

passengers. On the news, there was an approximate number. 

Grandma Natalie heard 2 000 000, while Grandma Dorothy 

heard that there were 3 000 000 passengers. Which Grandma 

is right? 

 

b) After the summer season, the number of passengers 

decreased, so for the next two months there were 1 535 842 

passengers, which is half a million less than last year at the 

same time. How many passengers, approximately, were 

recorded last year? 

 

c) In March, this year, the profit of the airport was only             

$ 9 489 950. Round off that sum to the nearest hundred, and 

then compare it with $ 9 500 000. 

 

d) Based on 7 563 787 ratings of satisfied passengers during 

this summer, we can say that the airline has made a great 

success. That's about: 

A.   7 500 000 different opinions. 

B.   7 600 000 different opinions. 

7 – Digit rounding off 

WORKSHEET#9 

 

1.  Let's talk about planes and answer the questions using round 

off the numbers. 



 

                                                “Please log in to www.letsshareknowledge.com for more worksheets" 
 

                         

 

1.  

a) Grandma Natalie  

 

b) 2 000 000 passengers 

 

c) $ 9 490 000  

$ 9 490 000 < $ 9 500 000 

 

d) B 

ANSWERS 


